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Πειραματικό Γυμνάσιο Πανεπιστημίου Μακεδονίας 

Επανάληψη στις πράξεις ρητών αριθμών 

 

1. Να κάνετε τις πράξεις: 

α. −(+2) = 

 β. −|−7| = 

 γ. −7 − 2 = 

 δ. −6 + 14 = 

 ε. −5 − (−5) = 

 στ. −2 ∙ (−7) = 

 ζ. −2 ∙ (−1) ∙ (−3) ∙ (−4) ∙ (−1) = 

η. −(+6): (−2) = 

θ. – (6 − 3)(4 − 2) = 

ι. (−1)2021 = 

κ. – [−(−1 − 2 − 3) − (+1 − 2 + 3) + (−2)5] = 

λ. 
−2(5−7)(−3−7)

20:(−4)
= 

μ. 
−35−(−3)5

2021
= 
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2. Όμοια: 

α. 23 + 22 = 

β. (45)3 = 

γ. 33 ∙ 43 = 

δ. 
(−5)13

512 = 

ε. 3−2 = 

στ. 76: 72 = 

ζ. (
2

3
)

−2
= 

η. 33 ∙ 32 ∙ 3−5 = 

θ. 
(−3)2∙34

5−6 = 

ι. {[(−2)2]3}4 = 

κ. 
(−4)8

24 = 

λ. 
[(35)

−2
]
3

9−20
= 

μ. 
(−4)2∙22:83

4−2 = 

 


